PROFESSIONAL TOOLS

INHALT
WERKSTATTWAGEN
SORTIMENT

SW-STAHL GMBH - An der Hasenjagd 3

POS. ART-NR.
12 05951L

3 05903L

4 05952L

5 05953L

6 060921

7 059711L

8 05632-8SB
El 05632-9SB
10 05632-10SB
n 05632-11SB
12 05632-12SB
13 05632-135B
L 05632-14SB
15 05632-155B
16 05632-165B
17 05632-17SB
18 05632-185B
19 05632-19SB
20 05632-20SB
21 05632-21SB
22 05632-225B
23 05632-2uSB
24 05632-275B
25 05632-30SB

BESCHREIBUNG

Kippverlangerung,
1/2",50 mm

Kardangelenk,1/2"

Kippverlangerung,
1/2",125 mm

Kippverldngerung,
1/2",250 mm

Umschaltknarre,
1/2", High Torque,
1.075Nm

Gelenk-Kraftgriff,
1/2",630 mm

/2", zwélfkant,
8mm, tief

/2", Zwolfkant,
9 mm, tief

/2", Zwolfkant,
10 mm, tief

/2", Zwolfkant,
11 mm, tief

/2", Zwolfkant,
12 mm, tief

/2", Zwolfkant,
13 mm, tief

1/2", Zwolfkant,
14 mm, tief

/2", Zwolfkant,
15 mm, tief

/2", zwélfkant,
16 mm, tief

1/2", Zwolfkant,
17 mm, tief

/2", Zwolfkant,
18 mm, tief

1/2", Zwolfkant,
19 mm, tief

/2", Zwolfkant,
20 mm, tief

/2", Zwolfkant,
21mm, tief

1/2", zZwolfkant,
22 mm, tief

/2", zZwolfkant,
24 mm, tief

/2", zwélfkant,
27 mm, tief

1/2", Zwolfkant,
30 mm, tief

- D-42897 Remscheid -

POS. ART-NR.
26 05632-32SB
27 05632-365B
28 05640-8
29 05640-9
30 05640-10
31 05640-T1
32 05640-12
EE] 05640-13
34 05640-14
35 05640-15
36 05640-16
37 05640-17
38 05640-18
39 05640-19
4o 05640-20
w 05640-21
42 05640-22
LE] 05640-24
Ly 05640-27
45 05640-30
L6 05640-32
u7 05640-36
us 05301L
L9 05302L

www.swstahl.de

BESCHREIBUNG

/2", Zwélfkant,
32mm, tief

/2", Zwolfkant,
36 mm, tief

/2", zZwélfkant,
8mm

/2", Zwolfkant,
9mm

/2", zZwolfkant,
10 mm

/2", zwélfkant,
T'mm

/2", Zwolfkant,
12mm

/2", zZwolfkant,
13mm

/2", Zwélfkant,
4 mm

/2", Zwolfkant,
15mm

/2", zwélfkant,
16mm

/2", Zwélfkant,
17 mm

/2", ZwélIfkant,
18 mm

/2", zwélfkant,
19 mm

/2", Zwolfkant,
20mm

/2", zZwolfkant,
21mm

/2", Zwélfkant,
22mm

/2", Zwolfkant,
24mm

/2", zZwolfkant,
27 mm

/2", Zwélfkant,
30mm

/2", Zwolfkant,
32mm

/2", zwélfkant,
36mm

1/2", Innenvielzahn,
M5x 53 mm

/2", Innenvielzahn,
M6 x 53 mm

POS.

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

7l

72

VE]

ART-NR.

05303L

05304L

05305L

05306L

052411

052u2L

05251L

052u3L

052441

05245L

052u6L

052471

05248L

05101L

05102L

05103L

05104L

05105L

05106L

05107L

05108L

05109L

05200L

052011

BESCHREIBUNG

1/2", Innenvielzahn,
M8x53mm

/2", Innenvielzahn,
M10x53mm

1/2", Innenvielzahn,
M12x53mm

1/2", Innenvielzahn,
M14x 53 mm

/2", T-Profil,
T20x53 mm

/2", T-Profil,
T25x53 mm

/2", T-Profil,
T27 x53 mm

/2", T-Profil,
T30x53mm

/2", T-Profil,
TLOX53 mm

/2", T-Profil,
TL45x53 mm

/2", T-Profil,
T50x53 mm

/2", T-Profil,
T55x53mm

1/2", T-Profil,
T60 x53 mm

/2", Innensechs-
kant,4x 53 mm

/2", Innensechs-
kant,5x53mm

/2", Innensechs-
kant,6x53 mm

/2", Innensechs-
kant,7x53 mm

/2", Innensechs-
kant,8x53 mm

/2", Innensechs-
kant,10x53 mm

1/2".Innensechs-
kant,12x53 mm

/2", Innensechs-
kant, 14 x53 mm

/2", Innensechs-
kant,17 x53 mm

1/2", Innenvielzahn,
M5x100 mm

1/2", Innenvielzahn,
M6 x100 mm

POS.

74

75

76

77

78

79

80

81

82

83

8u

85

86

87

88

)

90

Ell

92

93

9

95

ART-NR.

05202L

05203L

05204L

05205L

053411

053u2L

05340L

053u3L

053441

05345L

053u6L

053471

05358L

05000L

05001

050021

05003L

05004L

05005L

05006L

05054L

05057L

BESCHREIBUNG

1/2", Innenvielzahn,
M8x100 mm

1/2", Innenvielzahn,
M10x100 mm

1/2", Innenvielzahn,
M12x100 mm

/2", Innenvielzahn,
M14x100 mm

/2", T-Profil,
T20x700 mm

/2", T-Profil,
T25x1700 mm

/2", T-Profil,
T27x100 mm

/2", T-Profil,
T30x700 mm

/2", T-Profil,
T4O0 x100 mm

/2", T-Profil,
T45x100 mm

/2", T-Profil,
T50x100 mm

/2", T-Profil,
T55x100 mm

/2", T-Profil,
T60x100 mm

/2", Innensechs-
kant, 4 x100 mm

/2", Innensechs-
kant,5x700 mm

/2", Innensechs-
kant, 6 x100 mm

/2", Innensechs-
kant,7x100 mm

/2", Innensechs-
kant, 8 x100 mm

/2", Innensechs-
kant, 10 x 100 mm

/2", Innensechs-
kant,12x100 mm

1/2", Innensechs-
kant, 14 x 100 mm

/2", Innensechs-
kant, 17 x100 mm



@  —— 0O R Hu .
BRI RRRTRiTi

‘.‘Q@.@Q@@@QCC
@ QCC QIOIOIOIGIOIOIOICIOIOIOIOIOION0,

T

I e

i‘

ST001 TVNOISS3I40dd

THVL1S M\S




